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1.
W)= (07 )+ Wy(07) = %Clvlz((}_}i-—;—czv%({)_):%xlx i44+—;12-x2x36
=72+ 36=108(J)
Cyyy (07) + G, (07) = Cyy (07) + Gy, (07)
v, (07} -+ 21,(0") = 24
{v[ (0%)+2v,(0*) = 24
v (07) =9, (0)
3 (0M)=24 v (0")=8=v,(0")
Ji’(0+)=%C[v.’f(0+)+—;—C2v%(0+):m§x]x64+-;—x2x64
=32+ 64 = 96(J)

2.
46.20° =21 + (4~ )],
{(4—j)g =121, +(10+ j2)I - I)
2 + (4= Y, =46.20°
(4— NI, =121, +101 =101, + j21 - j21,
101 + j2I +121, =101, 41, ~ j21, + jI, =0
2 +(4- I, =46
{(10+ FDI+(=2= I, =0

46 4-j
. \0 _2_]' _ -92 - j46
) 4—j| —-4-j2-[40- 10+ j8+2]
10+ /2 —2—jt
~92- jd6 -92-j46 92+ j46
T 4o j2-40+510-8-2 46 46
. 102'86:;26‘56° — 2.23687.226.56° = /5.£26.56°

~i(1) =5 cos(t +26.56°) 4

3. (a)Vp, =801, +40(2i,)=160,;100=804,+30(-i,) i=2A V=320V
1 =4i;100=30(3 i, }+40(21)=170i, i,=(1017) A I =(40/1T)A
Ry =V, 11, =320(17/40)=136 Q

160*
(b) R, = Ry, =136 Q; P=—=188.235 W
136
@1,=V, 12, =220/(6+{8)=13.2-j17.6=224 - 53.1" A

(b)s:3|1a i2 Z, =3(22)%(6 + j8) =8712+j11616 VA



(@) ¥, =42£0° =4I, +2(%1I)+%[2(—;—11)+8(121—)] [,=420° A

£2

(b) Pio= 5 8=32 W




